'&t_ RSC TUTORS MUItipIicatiOn

Name - Starttime -_ _:_ _ End time-_ _:_ _

579 486 768 395
Xx 5 x 1 Xx 8 X 2

659 379 885 973
X 2 x 4 X 2 x O

2861 8427 7295 5346
X 2 X 1 X 5 X 5

Word problems :

1. Bailey bought 211 packs of biscuits. Each pack had 5 biscuits.
How many biscuits did bailey buy ?

2. Alarge basketball weighs 5510 g. what would be the weight of

4 basketballs ?
3. A bottle holds 624 ml. how many would 3 bottles hold ?

4. A cinema has 2100 seats. How many seats would there be in 6

cinemas ?

A 2 3 5 6 8 9
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